
1 × ÷ ×

93 －(11 ＋ 3 × 5)＋ 3

5
7

＝ 11 × × 21 ＋ 19

＝ 33 ＋ 19

＝ 52

52

＝ 93 －(11 ＋ 15)＋ 3

＝ 93 － 26 ＋ 3

＝ 67 ＋３

＝ 70

70

11 ÷ 7 × 21 ＋ 19

１ ＋
4
7

＝１ 9
7

＝ 2
2
7

2 2
7

1
7

－ －
5
6

1
2

2
9

＝ － －
15
18

9
18

4
18

＝
2
18

＝
1
9

1
9

8
9

1
14

2
5

＝ ×
15
14

2
5

＝
3
7

3
7

7
12

21
32

＝ × ×
8
9

12
7

21
32

＝ 1

1

1.4 ÷ 0.7 ＋ 0.3 × 3

＝ 2 ＋ 0.9

＝ 2.9

2.9

5
12 × ＋ 3 ×

4
15

3
7

35
36

＝ ＋ ×
1
9

30
9

24
7

35
36

＝ ＋
1
9

＝ ＝ 331
9

4
9

4
93



6 ＝ 6 ＋
3
4

3
4

＝ ＋
24
4

3
4

＝
27
4

□＝ 8

27

＝ ＋
26
3

24
3

2
3

＝ 8 ＋
2
3

＝ 8 2
3

8

＝ 23

23

□＝ 61 － 19

＝ 42

42

7
18

21
40

＝ ×
7
18

40
21

＝
20
27

20
27

□＝ 1 ÷ 23
5

＝ ÷ 28
5

＝ ×
8
5

1
2

＝
4
5

4
5

10 ： 15 ＝ 2 ： □

÷ 5

÷ 5

□＝ 3
3

□： 1.2 ＝ 1 ： 3

× 0.4

× 0.4

0.4

□＝ 27

□＝ 51 － 28

□＝ ÷

□＝ 0.4



8 × 8 × 3.14 × － 4 × 4 × 3.14 ×
1
4

1
2

＝ 16 × 3.14 － 8 × 3.14

＝ 8 × 3.14

＝ 25.12

25.12

10 × 10 × 3.14 × － 10 × 101
2

＝ 157 － 100

＝ 57

57

お茶代 2300 × 0.6 ＝ 1380

620

おつり 2000 － 1380 ＝ 620

32 ÷ 0.8 ＝ 32 ÷
8
10

＝ 32 ×
10
8

＝ 40

40


